@ 0<cosx<1

@ -1<tanx<0

@ 0<sinx<1

® -l1<sinx<1

@ 0<tanx<1



D -1<cosx<0
@ 0<tanx<1

® -1<cosx<0

@ 0<sinx<1

@ -2<sinx<-1



3. the A7 ghol AV AL AL

@ sin30° @ cos30° @ sin90°

@ tandb° ® tanb0°



&)
X ol
T 0
o 1<
Jaa) -
< 7
Bo ol
_
-
N
X=
NN
x|
<<
ol .
U]
e}
oo
o_uAm
wog

Lol
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6. e 1FL ol tanx 9 TS
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& oA /BAC = 90° o],
BCLAHO|t}. /CAH = xzF &
tan x & gE2?
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9.

th2 oA 2 4x -5y 4+ 20 = 03} x
9| Fo] FEol o]F= T oL &

tan6 9] Fr-27

N
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10. o3 282 2Hd x- V3y+3=0
o] Jefjzolr}, o|uff, 10 O] A7 E
52
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® 30° @ 40° ® 45° @ 50° ® 60°
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@ sinA
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@ sin A - cos A

@ tanA =2

® tanA



12. 0°<A<90° ¥ o, th&2 7+d5] 5HH?

\/(COSA +1)% + \/(COSA -1)* + Vdcos?A

D cosA-1 @ cosA+2 ® 2cosA-1

@ 2cosA+1 ® 2cosA+2



13. A+B=90° (%, A>0° B>0°)< o, ct

@ sin(90°—A) = cosA
@ sinAxcosB=1

31 A
® tanA = o

0s A

o

384 %

@ sin?A=1-cos?A

@ tanAxtanB=1



14. 45°<x<90° & o, /(1 -tanx)? 9] 32?7

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 ® 0



sin 30 °
cos30°

@ V2

sin 90 °
X tan 60 ° +

@ V3 ® 2

sin 30 ° X cos 60 °
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@ 3
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D

Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



17. g 179 aABC o4 A7u)e BE B3 ¢ 9] & A

Zte sin cos tan

54° 0.8090 0.5878 1,3764
55° 0.8192 0.5736 1.4281
56° 0,8290 0,5592 1,4826

@® 8.192 @ 5.736 ® 5.878 @ 8.09 ® 8.29



18. oh 1%9] aABC oA 417}

O 6.82

(afzidlel #)
T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314



19. ok 2-o)A] siny + cosx O] F-2?

3 4
®g ®g ® 1



20. o 1"l AC =10, AB=12, /A= C
60° < m, BC 9] dol& Fsfof=t.

D2Vl @ 2V1iT ® 2421 @ 229 ® 2431



21. o2 283} Zo] /A = 90° 9 FZHZt o] A A oA bl Y
Aol ¥ H 2 s, AB = 2v3em , AC = Vbem , /BAH =
x, /CAH =y & ], sin? x — 2sin’y o] 722




22. o IR 22 A7 ABC oA tan B ©] 2717

A

B 6/3cmD "12cm-” C

@é@ @%@ @? @%x/ﬁ ® V3



23. o2 1™oA /A =60°, BC = 6cm &
W, 919 0 o AT Aol
@ 3cm @ 4cm
® 3cm @ 24/3cm
® 3vV3cm




24. thg 117 9] AABC & AB = lem, ZABC = 90°, D
/CAB = 60° Q! 2|47zt o]a, AC = CD ©|tt.
o], tan75° 9 Z2?

60°

“lcm

D 2+ V3 @ 1+ V3 ® V3
@ 2+ 2 G 1+ 2



25.

o 93 Zo] PT = A&
o]7F 20cm Q1 ¥ O 9 HA
ZBPT = 600 OET qu B 9;'
=7

@ 3Cm @ 5Cm

® 6cm @ 8cm

® 10cm




o2 29ollA AC = 12cm , /B = 60°
o o, ZH47Eg ABC 9] B8] Zo
=7

@ 12(V2-1)cm

@ 12(V2+1)em

® 6(V3+1)cm

@ 12(V3+41)cm

® 12(V3-1)cm




